4 f(x) = ~3rtk, g(x) = 24400 T3}, (fog)(x) = (g0£)(x)
Yohes ohi ko] g Antelr}

@‘16 @ -14 ® -6 @ -4 ® -2

f(x) = =3x+k g(x) = 2x+ 4°]A]
(fog)(x) = f(2x+4)=-3(2x+4) +k
=—6x—-124+k---Q
(g0 f)(x) = g(-3x+k) =2(-3x+k) +4
= 6x+2+4---O

Q@I ©°] ZotoF stE=
—6x-12+k=—-6x+2k+4
k=16
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(fog)(x) =2g(x)+6=2(ax—-1)+6
=2ax+4 ---Q

(gof)(x) =af(x)-1=a(2x+6) -1
—%x+6a-1---©

@, ONA 2ax + 4 = 2ax+ 6a -1

4=6a-1

Soa= =
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D f(0)=0 @ f(x) =-f(-x)
® f(3x) =3f(x) @ f = dude=olrh

(© =B ERE

~&B

D fla+b) = f(a) + f(b) 1A
a=0,b=02t1 5tH
f(0) = £(0) + f(0) °1BZ f(0) =0

@ f(a+b) = f(a) + f(b) 1A
a=x, b=—-x =1l 5}
£(0) = £(x) + f(=x) ©]2 @°f 25}
f(0)=0°IB=% f(x) = —f(-x)

® fla+b) = f(a) + f(b) 1A
a=x, b= x21l s}
f(2x) = f(x+x) = f(x) + f(x) = 2f(x)
f(8x) = f(2x +x) = f(2x) + f(x)
=2f(x) + f(x) = 3f(x)
(5, f(nx) = nf(x), n < 8)

@ a # b 22l SHA}
fla) = f(b) = fla+ (-b)) = fla—b) = f((a-b) x 1)
=(a-b)f(1)=2(a-b) #0
wretA f(a) # £(b) ©1H.
5, f+ 4 4ol

® 39 : z (A5 AAY JF)
A {f(x) | xeZ} = {xf(1) | x€Z}
={2x|xeZ}+Z
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